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Matricola:
Question #1 [ranks 5+3+2]. Given the integer 8 show how to encode it via
· the (s,c)-dense code with parameters s=5 and c=3. 
· the Rice code with k=2
· the delta code
Question #2 [ranks 3+3]. Perform the intersection between the two lists S1 = {1, 9} and S2 = {1, 2, 5, 7, 10, 15, 20} by means of the 
· algorithm based on “binary search with exponential jumps” (or, doubling search).
· algorithm based on “mutual partitioning”.
Question #3 [ranks 5]. Let us given the probabilities: p(a) = 1/2, p(b)=p(c)=1/4. Decompress the first 2 symbols of the Arithmetic coded bit sequence: .1101.
Question #4 [ranks 5+4]. You are given the binary tree described by the following list of edges (ordered left-to-right for the same parent):

(a,b)(a,c)(b,d)(b,e)(e,f)(e,g)

· Encode this binary tree succinctly.
· Simulate the algorithm that traverses the path “abd” by using Rank/Select data structures built on the succinct representation above.
